. VCE & PDF https://www.pass4itsure.com/5v0-21-19.html
g 2024 Latest passditsure 5V0-21.19 PDF and VCE dumps Download

PassditSure.com

5V0-21.190%As

VMware VSAN 6.7 Specialist Exam 2019

Pass VMware 5V0-21.19 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/5v0-21-19.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

5V0-21.19 PDF Dumps | 5V0-21.19 VCE Dumps | 5V0-21.19 Practice Test 1/4


https://www.pass4itsure.com/5v0-21-19.html
https://www.pass4itsure.com/5v0-21-19.html
https://www.pass4itsure.com/5v0-21-19.html

VCE & PDF https://www.pass4itsure.com/5v0-21-19.html|
a 2024 Latest passditsure 5V0-21.19 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

A vSAN all-flash environment with these host specifications has reported high network latency, write
latency, and faces degraded performance:

One 1Gbps (VSAN, vMotion Traffic)

One 1Gbps (Management, Fault Tolerance traffic)

Based on the specifications of each host, what is recommended to resolve the issue?

A. collapse all traffic into one 1Gbps NIC

B. collapse all traffic shared under two 10Gbps NICs

C. change stripe width to 12

D. change MTU to 9000

Correct Answer: B

QUESTION 2

Which default VMware vSphere High Availability cluster setting must be changed when using a vSAN stretched
cluster?

A. Datastore with All Paths Down

B. Datastore with Permanent Device Loss
C. Response for Host Isolation

D. Enable Host Monitoring

Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUIDD68890D8-841A-4BD1-ACA1-DA3D25B6A37A.html

QUESTION 3

An all-flash vSAN cluster contains four nodes.

Which two storage policies can the cluster satisfy? (Choose two.)
A. FTT=2 (RAID-1 Mirroring)

B. FTT=2 (RAID-6 Erasure Coding)
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C. FTT=1 (RAID-1 Mirroring)
D. FTT=1 (RAID-5 Erasure Coding)
E. FTT=3 (RAID-1 Mirroring)

Correct Answer: CD

QUESTION 4

Refer to the red question mark in the exhibit.

Site A Site B

Cluster A— 7 VMs Cluster B—-9 VNs Cluster A-7 VMs Cluster B - 9 VMs

ESXi Hosts ESXi Hosts
Dell PE R620 x3 Dell PERT20% 3
vSphere6.5 vSphere 0.5

ESXi Hosts ESXi Hosts
HP DL380 G10% 3 HPE DL380 G10 % 3
vSphere 6.7ut vSphere 6 7ut
vSAN D7 vEAN DT

f?

-

Replication

C Switch 2 10 Gbps Switch 1 10 Gbps Switch 2

Which VMware solution provides automated interoperability to failover and re-protect VMs from Site A to Site B, and
Site B to Site A?

A. vSphere Integrated Containers

B. NSX SD-WAN by VeloCloud

C. vRealize Operations

D. Site Recovery Manager

Correct Answer: D

To fail back from site B to site A (after failover from site A to site B), Site Recovery Manager licenses are required for the
"re-protected" virtual machines at Site B. The "per virtual machine" licenses originally used at site A can be used at site

B for this purpose, as long as the licenses are no longer in use at site A

Reference: http://media.zones.com/images/pdf/vmware-site-recovery-manager-faq.pdf
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QUESTION 5

A vSAN 5-node cluster has two sets of VMs, each associated with a separate storage policy.
-Group A (Storage Policy: FTT=0)

-Group B (Storage Policy: FTT=2)

What are two possible results when two hosts in the vSAN cluster fail permanently? (Choose two.)
A. VMs in Group B will become inaccessible if a third host permanently fails.

B. vVSAN will rebuild data associated with Group A.

C. VMs in Group A might experience data inaccessibility.

D. VMs in Goup B might experience data loss.

E. A host can be put into maintenance mode without impacting VMs in either Group A or B.

Correct Answer: CD
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